AOP — w4 7 BREIEARTR| FBEERT |FL2REERTR| F42EERT

Sv¥L s P AU FHERE |FMFALKE | FHERE | MFAMKE

1 F=l— PR e 1470 270 600 600

2 FAZTavh kG EA 1230 90 270 600 270

3 V=—JEK KIE 5o+ 660 150 90 270 150

4 HLTC R VR 600 600

5 FROETC Vedii VT 570 420 150

6 F=l— i R 560 420 140

7 FTC JER PRIl PRS- 540 150 150 150 90

7 JEKREEETC T V5T 540 150 90 150 150

9 Fvh A~ A e 510 90 150 270

10 TN BE 55 450 270 90 90

11 JE RKHKE B BE 420 420

11 T KL o+ 420 420

13 HOETC wis R 330 90 150 90

14 Fx L ATC G &8 T 290 90 200

15 B EmEAR R G 270 270

15 FAAR Ak E i 270 270

17 FxlL oY IER S 254 90 150 14

18 HETY FHigg #h 1 240 150 90

18 NTT R&D JHE Ao 240 150 90

20 FA A avh Pelgg SR 200 200

21 HLTC T EH 194 90 90 14

22 F=l— A i1 180 90 90

23 J=—JEK BRI 164 150 14

24 HETY G s 160 90 30 40

25 HLTC JEGS S 150 150

26 JEAREBETC Iy fie] Fh2 144 90 30 18 6

27 BIEARTC Mo EA 140 140

27 ‘HDOHETC SiHh VE T 140 90 50

27 FAAavh NI A 140 50 90

30 Avbh AV AeJIT #edn+- 121 90 28 3

31 FVUA L TC NEEISS 120 90 30

31 Fl)— R KE 120 90 30

33 JZAHKF i A 100 50 50

34 BIEARTC e 51 90 90

35 F ¥ ATC KIE T+ 80 30 50

36 2vbh AV EiE e 76 30 40 6

37 F ¥ ATC Ei O 64 14 50

38 1E8), TEfF Fand R 58 30 28

39 TPy AV 1] - 50 50

39 V=—JER XH b 50 50

41 Fxl oY S 44 14 30

41 FEATC ik BT 44 14 30

41 HOETC MR Fp A 44 14 30

44 FEATC /NFE AT 40 40

44 F ¥ ATC FRH ME 40 40

46 Fol LT SR LR 35 14 18 3

47 T.0.P e AET 30 30

47 JEKHKF g KE 30 30

47 F=J— (LT 9RAE 30 30

47 JEKHKEF SEH 21 30 30

47 Fl— B HHE 30 30

47 Fob A2 BT T2 30 30

53 F L ATC S =R 28 28

53 HOHETC foll HE 28 18 10

53 HET TR FRR 28 10 18

53 FxlL oY INE=S 28 28

53 HOHETC fafkt X1 28 14 14

53 FxlL oY B b1 28 14 14

53 BIEARTC ke HET- 28 14 14

60 F ¥ ATC AKEINET- 24 6 18

60 T Bk RH 24 14 10

62 FAARavh T2 FHE 22 6 10 6

62 AH—TC Ui B A 22 6 3 10 3

64 Lvbh AV Jrld] &=+ 21 18 3

65 HLTC gy A 19 6 3 10

66 F L ATC &1L S 18 18

66 SHEARTC 5% BET 18 18

68 HEARTC 0 BT 16 10 6

68 HOHETC L o B A 16 10 3 3

68 BEARTC [ e 16 10 6

68 F AR =avk =R &1 16 6 10

72 HEETY iH 3y 15 6 3 6

72 F ¥ ATC AN EHA 15 6 6 3

74 HLTC o EE 14 14

74 Kb, A JHi = 14 14

74 T N 14 14

74 FxLP i Fis 14 14

74 BIEARTC I8 e 14 14




AOP B [ we BRREARTRE| FBRBEEART |F42MEATE| BL2EEART

SyxLy & FAUE FHEAE | FMFAMKRE | FHERE | FMTATMKE

74 F=J— W 2% 14 14

74 Fvbh A~ ELRE SH 14 14

74 FxlL D A BEH 14 14

74 Fxl— T LT 14 14

74 F=l— s EfET 14 14

74 JEKEBETC —FRF 14 14

74 FTC #ZRDOH REIL BT 14 14

74 Fxl— A AET 14 14

74 HAER HE BT 14 14

74 Fxl— = T 14 14

74 F X ATC I AR 14 14

74 FAA avh A S 14 14

91 JEART AT JnH AGEE 13 3 10

91 £, W IRk 13 3 10

93 HLTC [ 12 3 6 3

93 HiETY IRy re 12 3 6 3

93 HLTC A 51 12 3 6 3

96 HSZJEA IEE 10 10

96 ‘HDOHETC B SHF 10 10

96 HROETC IRIE L 10 10

96 Fxl D INEEES 10 10

100 FA AT avh TEVHE 9 6 3

100 Fyl D T Ik 9 3 6

100 U/NEY B =41 9 6 3

100 b AV FrE E T 9 6 3

100 HLTC ITHE 2 9 3 6

100 N % EIE 9 3 6

106 HPETZ WK GET 6 6

106 JERKHKF KB &% 6 6

106 JEAREBETC JERE B 6 6

106 FxlL T8 fF0+- 6 6

106 JEAREBETC ot AED 6 6

106 JEAREEETC A% H AL 6 6

106 8 HE HH 6 3 3

106 Fvb, A~ =4F AT 6 6

106 BIEARTC ElEEs 6 6

106 F oL ATC EH &1 6 6

116 F o ATC FH 53+ 3 3

116 {8, fEf LA B 3 3

116 HIETZ ARy 3 ke 3 3

116 |EALKE IS 3 3

116 Fvbh AV e e 3 3

116 T BEAR M1 3 3




